



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{1}{4}\right)^3 + \frac{1}{5} =$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{4} =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^0 - \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{2}{5}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{4}\right)^0 + \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{4}\right) - \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{1}{4}\right)^3 + \frac{1}{5} = \frac{69}{320}$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{1}{4}\right) = \frac{121}{500}$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{4} = \frac{3}{4}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{2}\right) = \frac{25}{54}$$

$$\left(\frac{1}{4}\right)^0 - \frac{1}{4} = \frac{3}{4}$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{2} = \frac{5}{64}$$

$$\left(-\frac{2}{5}\right)^2 - \frac{3}{5} = \left(-\frac{11}{25}\right)$$

$$\left(\frac{2}{5}\right)^2 + \frac{3}{5} = \frac{19}{25}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{5} = \left(-\frac{11}{80}\right)$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) = \frac{51}{125}$$

$$\left(\frac{1}{4}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{121}{500}\right)$$

$$\left(\frac{1}{4}\right) - \frac{3}{5} = \left(-\frac{7}{20}\right)$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{3}{5}\right) = \frac{29}{40}$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{2} = \left(-\frac{25}{54}\right)$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{2} = \frac{11}{18}$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{6} = \frac{37}{216}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{3}{8}\right)$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{6}\right) = \frac{5}{18}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) = \frac{7}{12}$$